
 

 

                               Conversion of Money 

 

We know that Rs 1 =100 Paise 

Converting rupees into paise 

We have learnt to write money in rupees and paise. 

For example: The cost of a car toy is 5 rupees 50 paise = Rs 5.50 

As Rs 1 = 100p 

So Rs 5 = (100 × 5) P =500 P 

And Rs 5.50 = 500 P + 50 P =550 P 

Let us take few more examples. 

Example 1:  Convert into paise. 

 A. Rs 7 

 B. Rs 25.25 

 C. Rs 52.75 

Solution:   A: Rs. 7 

 =7 × 100 [As Rs. 1 = 100P] =700 P 

 B: Rs 25.25 

 Rs. 25= (25 × 100) P =2500 P 

 So Rs 25.25 = (2500+ 25) P =2525 P 

 C: Rs. 52.75 

 Rs. 52 = (52 × 100) P =5200 P 

 So Rs. 52.75 = (5200 +75) P = 5275 P 


